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Ответы

1. D

2. B

3. C

4. A

5. B

6. B

7. A

8. B

9. A

10. A

Определите закон, который используется в станке.

1) Вход (F) 7 15 12 13 8 A. F + 5 B. F + 10
Выход 2 10 7 8 3 C. F × 10 D. F - 5

2) Вход (V) 7 2 8 3 10 A. V × 3 + 6 B. V × 3
Выход 21 6 24 9 30 C. V × 5 - 4 D. V + 3

3) Вход (R) 2 3 10 7 8 A. R × 2 - 5 B. R × 4 + 4
Выход 8 10 24 18 20 C. R × 2 + 4 D. R × 2

4) Вход (Y) 7 10 3 8 2 A. Y × 5 + 7 B. Y × 5
Выход 42 57 22 47 17 C. Y × 5 - 10 D. Y × 4 - 7

5) Вход (M) 8 2 10 3 7 A. M + 9 B. M × 9 + 10
Выход 82 28 100 37 73 C. M × 10 D. M × 12 - 10

6) Вход (G) 10 3 2 8 7 A. G × 4 B. G + 2
Выход 12 5 4 10 9 C. G × 4 - 4 D. G × 2 - 7

7) Вход (S) 10 2 8 3 7 A. S × 7 - 8 B. S × 7 - 9
Выход 62 6 48 13 41 C. S × 7 + 10 D. S × 7

8) Вход (J) 3 7 8 2 10 A. J × 7 - 4 B. J + 7
Выход 10 14 15 9 17 C. J × 7 D. J × 5

9) Вход (T) 10 2 8 7 3 A. T × 5 B. T × 5 + 9
Выход 50 10 40 35 15 C. T × 7 D. T × 7 + 7

10) Вход (Q) 10 3 7 8 2 A. Q × 5 - 9 B. Q × 5 + 10
Выход 41 6 26 31 1 C. Q × 5 - 12 D. Q × 9 + 9
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